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301 et d = 1,079,998 1,079,998 0
= 1,079,998

MIIEEd= 1,079,998 1,079,998 0

OLsAXHI S H A 2

256,409.783 * 4,212ha 1,079,998
= 1,079,998

sy Fgerd NE 1,846,400 2,046,020 A 199,620
= 944,000
& 205,000
= 697,400

HadsitE AsSXE 810,000 828,800 A 18,800
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= 630,000

301 et d = 810,000 828,800 A 18,800
= 180,000
= 630,000

NJIEEd=s 810,000 828,800 A 18,800

OIS ASKE

649,819& =+ 1,38524 = 90/100 810,000
=) 180,000
= 630,000

A dsLHAEX =M 944,000 1,197,000 A 253,000
= 944,000

301 gt d= 944,000 1,197,000 A 253,000
= 944,000

NJIEEd=s 944,000 1,197,000 A 253,000
OZEZd=sHAIXNEHM  640,000& * 1,475ha 944,000
= 944,000
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 et a = 2,288,900 1,577,770 711,130
< 657,780
e 1,631,120
MIIEEE=S 2,288,900 1,577,770 711,130
OXSZsLL XN LAY
2,288,900,000& * 14 2,288,900
< 657,780
e 1,631,120
SHUE(ELHEH )X 1,498,166 2,429,592 A 931,426
= 1,048,716
= 134,835
s 314,615
206 M= Hl 1,498,166 2,429,592 A Q31,426
= 1,048,716
< 134,835
s 314,615
01 =4l 1,498,166 2,429,592 A 931,426
OXSHHIE(ELHEH)XA
132,581& = 11,300& 1,498,166
= 1,048,716
< 134,835
e 314,615
AU E(RIE)XHA 2,750,000 2,392,295 357,705
= 1,500,000
fia 1,250,000
206 M= Hl 2,750,000 2,392,295 357,705
= 1,500,000
s 1,250,000
01 =4l 2,750,000 2,392,295 357,705
OFSIHIZ(KINE)XE
120,371. 143 = 22,846& 2,750,000
= 1,500,000
e 1,250,000
JEBAMAESIH s N 270,000 320,000 A50,000
301 et d = 200,000 250,000 A50,000
NJIEEd=s 200,000 250,000 A 50,000
OEgdEIsti S=NE
10,000& * 33,333.332 * 60/100 200,000
402 2I2H X201 M 70,000 70,000 0
01 B2t AL E X 70,000 70,000 0
O =sdad=sI FHME=MAA
87,500& * 1,000ha * 80/100 70,000
SN MACHT =4 900 500,000 A 499,100
202 (4 Hl 900 0 900
01 = LH 4 Hi 900 0 900




SN FH-SA(EN) - MBAY - BES
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i

2

OB AMHATETLAISE =2 0HI

20,000% = 12 * 452
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M H

243,700

97,480
146,220

243,700

206 M= Hl

M H

243,700

97,480
146,220

243,700

01 M= dl
O=sHXAESTHUHXEA 243,700& * 1,000na

M

243,700

243,700

97,480
146,220

243,700

M

40,000

12,000
28,000

26,200

13,800

M H

40,000

12,000
28,000
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13,800

OHBASUE BRSAAMI

279,720.26% = 1432

EUNE

40,000

40,000

12,000
28,000

26,200

13,800
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10,225
23,590

33,815

307 glztol &

EURLY
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33,815
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T
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s S&g28 XN& 81,091.1& = 4174

EUNE

33,815

33,815
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921,888

102,432
819,456
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e
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e
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SUNE

921,888

102,432
819,456

1,200,000

A278,112

NIEtEd =

OMM=Eol X
120,000 =+ 8,536ha * 90/100
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921,888
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2A: AEH=sH
M =0 AS OF
Sl FBAsIIN S (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
[ 13,500
- 31,500
301 et A= 75,000 320,000 A 245,000
= 30,000
& 13,500
= 31,500
11 J|EtE A2 75,000 320,000 A 245,000
OX&stAsXNM K&
1,666,666 * 90ha * 50/100 75,000
= 30,000
=} 13,500
= 31,500
SHE MAL RS2 3,067,965 2,085,115 982,850
= 113,029
N 300,000
& 398,745
= 2,256,191
MISEANE JIs 23t 1,144,621 755,450 389,171
= 113,029
N 300,000
& 66,747
= 664,845
r2e| 249 2,950 2,950 0
= 2,950
202 04| 2,950 2,950 0
= 2,950
01 2Ll 2,950 2,950 0
Odxz2e| =AY 2,950,000& = 14l 2,950
= 2,950
sSME AEH2MHED X X 45,000 45,000 0
=} 18,000
= 27,000
402 SI2tXHE0| & 45,000 45,000 0
& 18,000
= 27,000
01 A2t SAIE E =X 45,000 45,000 0
OsdtE8 428 de2MED &
6,000,000& * 15= = 50/100 45,000
o=} 18,000
= 27,000
SHESDNSEEHYXH 75,000 85,000 A 10,000
402 SI2F 20| ™ 75,000 85,000 A 10,000
01 QIZEXIE2AIE 2 X 75,000 85,000 A 10,000
OsatE AXD] A
3,000,000 = 30CH = 50/100 45,000




SN WBFsAD
M spM2 MM RSB
?2: 4XNRSAE Jls 28 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Oz MAHII XA
2,000,000 = 30CH = 50/100 30,000
H2MdED 8XX3 100,900 100,000 900
202 O4dl 900 0 900
01 = LH 4 1 900 0 900
O28MESMED AXXNE =AW
20,000& = 12 = 45 900
402 BI2FX=01 M 100,000 100,000 0
01 It 2 AL E X 100,000 100,000 0
Ox8M2MELD &3 X
6,000,0002 * 33.3333& * 50/100 100,000
=FE4d3 A& 21,500 21,500 0
402 RI2EX 20| ™ 21,500 21,500 0
01 B2t t=2 AP E X 21,500 21,500 0
OgeT =4t ZHHOZ MAEXA
1,400& * 20,00000 * 50/100 14,000
OsaE ZHOX HEHE X
15,000,000& = 1JHA * 50/100 7,500
SIS AE A4 X 4,400 5,000 A 600
< 2,200
i 2,200
307 21201 A 4,400 5,000 A 600
< 2,200
[ia 2,200
02 QAFAAFEX 4,400 5,000 A 600
ORIINSASUSKEA
2,200,000 = 5JH A * 40/100 4,400
< 2,200
s 2,200
OS2t Bratdty SRR 70,000 0 70,000
< 20,000
s 50,000
402 RI2HXt20l ™ 70,000 0 70,000
< 20,000
s 50,000
01 A TtEAEEX 70,000 0 70,000
OOIS S Ba e SHAY
100,000,000& * 1JH4 = 70/100 70,000
< 20,000
[ia 50,000
TEBAFT oIt A 300,000 0 300,000
Xl 250,000
[ia 50,000
402 RIZ2HXt20l ™ 300,000 0 300,000




2A: AEH=sH
Hu: SN2 MM RER
o2l MXREAMNE Jls 2s CEERED)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@i HRE2
Xl 250,000
- 50,000
01 A XSAIEE =X 300,000 0 300,000
OB ABLHY AT AHAY
500,000,000& = 1JHA * 60/100 300,000
Xl 250,000
= 50,000
2AAME I BMAUGAIY 60,000 0 60,000
N 50,000
= 10,000
402 SI2F 20| & 60,000 0 60,000
N 50,000
= 10,000
01 QIZEXIE2AIE 2 X 60,000 0 60,000
OLdA sAE BNy 2ASAY
100,000,000€¢ ~ 1JHA = 60/100 60,000
Xl 50,000
= 10,000
SAE HMZIIE T X&E 100,000 150,000 A 50,000
402 SI2FXHE0| & 100,000 150,000 A 50,000
01 QIZEXIE2AIE 2 X 100,000 150,000 A 50,000
OsAE HZIE2 ANEXH
100,000,000 = 2JHA = 50/100 100,000
GAPRI S =JF &t A 2 AHHl X & 16,113 0 16,113
= 11,279
& 1,450
= 3,384
307 2iz2to| A 16,113 0 16,113
= 11,279
& 1,450
= 3,384
02 QIZ2FA AAIE E X 16,113 0 16,113
OGAPRIE =01 ot M A AHH| X &
16,113,000 = {14! 16,113
= 11,279
& 1,450
= 3,384
sAE ZZOXC OHEY ME XI& 7,500 10,000 A 2,500
= 3,000
= 4,500
402 SI2F X201 & 7,500 10,000 A 2,500
= 3,000
= 4,500
01 QIZEXIEAIE 2 X 7,500 10,000 A 2,500
OsAE TR N AL
15,000,000 = 1JHA = 50/100 7,500
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M spM2 MM RSB
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 3,000
s 4,500
st Ss&YE N 50,000 30,000 20,000
402 RI2EX=20| M 50,000 30,000 20,000
01 St AL E X 50,000 30,000 20,000
Oontg 720l ssxHYE N
100,000,000 = 1JH A * 50/100 50,000
AlSEE s FotHlE N& 6,000 6,000 0
307 glz2tol & 6,000 6,000 0
02 IZHE M AHE X 6,000 6,000 0
OAZetetsl &It 2AH X
2,000,000& = 2JHA * 33 * 50/100 6,000
sitE S0 2UHNA 197,600 0 197,600
= 98,800
< 19,800
s 79,000
307 21201 A 197,600 0 197,600
= 98,800
< 19,800
i 79,000
02 IZtE M AHE L 197,600 0 197,600
O3s6gEH XA
395,200,000& * 1A * 50/100 197,600
= 98,800
< 19,800
s 79,000
GAPRIS M E =8 X3 7,658 0 7,658
< 2,297
s 5,361
307 21201 A 7,658 0 7,658
< 2,297
[ia 5,361
02 It S AIHE L 7,658 0 7,658
OGAPI S =t dE 2 XI&
7,658,000& = 14 7,658
< 2,297
s 5,361
HEMAZX AlEOIS ZEAY 80,000 0 80,000
402 RI2HXt20l ™ 80,000 0 80,000
01 A TtEAEEX 80,000 0 80,000
ONdSTHHZT X AlEOtS ZHALS
160,000,000& * 141 = 50/100 80,000
ST 2ESIANY 1,171,541 1,151,085 20,456
< 320,598
s 850,943




SN eSS
HY: =M2 MY RERE
ol 5E BAZTAY (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
sStuga sSAse=E AME X 1,153,966 1,151,085 2,881
< 315,326
e 838,640
202 Oddl 2,880 0 2,880
01 = LH 4 Hi 2,880 0 2,880
O D2A HEF=A2 AN 20
20,0003 = 22! = 72 2,880
307 glz2tol & 1,151,086 1,151,085 1
< 315,326
s 835,760
02 It HAHEE 1,151,086 1,151,085 1
OD2A HEF=HE AR
1,751,809,000& * 141 % 60/100 1,051,086
< 315,326
e 735,760
Ostugal FeEdsds ANHEXNIA(BESAL
2aZ4) 100,000,000 * 14l 100,000
stngal ATHE M2 AIAELAS 17,575 0 17,575
< 5,272
s 12,303
201 LBr2g| 12,575 0 12,575
< 3,772
[ia 8,803
01 At 2t 2l 12,575 0 12,575
OBDZAS HBASHES HEY AKX
251,500& = 50A 12,575
< 3,772
s 8,803
402 2I2H X201 M 5,000 0 5,000
< 1,500
fia 3,500
01 B2t AL E X 5,000 0 5,000
OBRIAE FePS4ES H0IAAI 22
8,333,000& = 1CH = 60/100 5,000
< 1,500
s 3,500
sttE HE2Y SHHES 751,803 178,580 573,223
< 11,400
s 740,403
S W =2 edid XI& 36,000 0 36,000
< 7,200
[ia 28,800
307 21201 A 36,000 0 36,000
< 7,200
[ia 28,800
02 It S AHE L 36,000 0 36,000
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AE HEX&
20,000,000& * 5ha = 50/100
OHIDIE S AL XX & ALY
20,000,000& = 7.5ha * 50/100
Obil= SAOHAE oY XA
2,000,000&  50ha * 50/100
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50,000
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| Ea 39,420
SEESXNS(HA , sUS)MAAE SUSAY 30,000 55,000 A 25,000
= 12,000
< 5,400
e 12,600
402 RI2EX=20l A 30,000 55,000 A 25,000
= 12,000
< 5,400
s 12,600
01 It 2 AL E X 30,000 55,000 A 25,000
OSSHES(HA , =SUS)MAMAIE HUHSAY
60,000,000& * 14l * 50/100 30,000
= 12,000
< 5,400
e 12,600
2UHEZMARE Qo2 = 180,000 0 180,000
X 150,000
s 30,000
402 BIZHXHE 0| A 180,000 0 180,000
Xl 150,000
[ia 30,000
01 It AL E X 180,000 0 180,000
OANSHYMRE QI TatRs
200,000,000 = 1.5ha * 60/100 180,000
Xl 150,000
e 30,000
ANEANSE N XA (LRAUAIE) 151,651 0 151,651
= 60,660
= 9,099
s 81,892
402 RI2FX=201 M 151,651 0 151,651
= 60,660
< 9,099
s 81,892
01 It ALHE X 151,651 0 151,651
ONERUNSEMNL (LERAUMAIE)
151,651,000& * 2ha *50/100 151,651
= 60,660
= 9,099
e 81,892
NS Aol BZHMAA 36,000 0 36,000
S 14,400
i 21,600
402 QI2H X201 A 36,000 0 36,000
< 14,400
s 21,600
01 It AL E X 36,000 0 36,000
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SN WBFsAD
HE: s B L
Sl HOUSTMMALK CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OANZ&0 A&Eo ZZHAE
3,600,000 * 20ha * 50/100 36,000
< 14,400
e 21,600
FHESHE QZet2= 233,333 0 233,333
= 70,000
fia 163,333
402 BIZHXHE0| A 233,333 0 233,333
= 70,000
s 163,333
01 It 2 ALEE X 233,333 0 233,333
O/ANSERES A TetnE
233,333,000 * 2ha * 50/100 233,333
< 70,000
e 163,333
=2 ™SR D 1,140,000 685,000 455,000
J| 220,000
< 129,000
s 791,000
Lot at)|gtet =X & 100,000 0 100,000
402 2I2H X201 M 100,000 0 100,000
01 B2t AL E X 100,000 0 100,000
OR3stu Al&otRA AXX&
200,000,000 = 1ha * 50/100 100,000
NEZHMAIZSUHALE 550,000 650,000 100,000
J| 220,000
< 99,000
[ia 231,000
402 2I2H X201 M 550,000 650,000 100,000
J| 220,000
< 99,000
[ia 231,000
01 B2t AL E X 550,000 650,000 A 100,000
OLNEZE MAMALSEUS ALY
1,100,000,000& * 1Al = 50/100 550,000
Jl| 220,000
< 99,000
s 231,000
NEE U= MaHTIXR 60,000 0 60,000
402 RI2EXt20| ™ 60,000 0 60,000
01 22t t= AP E L 60,000 0 60,000
OJlsd BHASRIZSEAY
5,000,000 = 12ha * 50/100 30,000
OJlsd MM ZE ALY
5,000,000 = 12ha * 50/100 30,000
1SHISS ALY 300,000 0 300,000
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SN WBFsAD
Ha: HYSYAH (B
Eel: 23U (HEZsE ) (Sl & &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o222 ¥ HMAl 4,768
OSNHE AREX S Y& SR
1,930& * 2,47004 4,768
202 4l 4,800 7,680 A 2,880
01 = LH 4 HI 4,800 7,680 22,880
FN2E XA
0,000& = 5@ * 42 « 123 4,800
203 YR =] 4,200 4,200 0
04 EA2IYRFLH| 4,200 4,200 0
ORN2EYEF=AHI 350,000& = 123 4,200
s AE I =3l 9,688 10,648 A 960
201 Let249] 5,368 5,368 0
01 At 224l 5,368 5,368 0
Olger=&tl] 2,680
ORAN2YE SHA& 670,000& = 4¢l 2,680
Ol=&Hl] 2,688
ORMN2E SHUAY
7,0003 * 8Y * 421 x 123 2,688
202 O4dl 4,320 5,280 A 960
01 = LH 4 1l 4,320 5,280 A 960
FA2E SUAY
20,0003 = 32! = 6 = 123 4,320
s SOHHEE I =3 9,660 15,060 A5,400
201 ¢er24| 5,340 5,340 0
01 At 22/l 5,340 5,340 0
Oo[gere] 2,820
ORAN2YE SHAA 940,000& = 3¢! 2,820
Ol3l] 2,520
ORMN2E SHUAY
7,000 = 321 = 10 « 12& 2,520
202 oddl 4,320 9,720 A5,400
01 = LH o4 1l 4,320 9,720 25,400
FA2E SHUAY
20,0003 = 32! = 6 = 123 4,320
SMESFRSALEE I =3I 8,838 9,714 A 876
201 ¢4l 4,518 4,458 60
01 At 22l 4,518 4,458 60
Olger=&tl] 2,250
ORAN2E SHAHA 750,000& = 3¢! 2,250
Ol3l] 2,268
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SN WBFsAD
M HH R (ASE =)
Eel: 23U (HEZsE ) (Sl & &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ORMN2E SHUAY
7,000& = 321 » 9 » 123 2,268
202 o4dl 4,320 5,256 A 936
01 = LH o4 1l 4,320 5,256 A 936
FA2E SHUAY
20,0003 = 32! = 6 = 123 4,320
HHEZRE I =23 9,624 8,346 1,278
201 ¢4l 6,024 4,458 1,566
01 At 22l 6,024 4,458 1,566
Oofger29l] 3,000
ORAN2E SHAHA 1,000,000& = 3¢ 3,000
Ol3l] 3,024
ORANE2E SUAHY
7,000& = 3¢ » 122 » 123 3,024
202 od4dl 3,600 3,888 A 288
01 = LH o4 4l 3,600 3,888 A 288
FAE2E XA
20,000& = 321 * 52 » 123 3,600
HREs(dasd=sg1) 100,000 100,000 0
HEHHXZ 100,000 100,000 0
sgEdIIz 29 100,000 100,000 0
701 JIEtSI HSHES 100,000 0 100,000
01 JIEte HE &= 100,000 0 100,000
OZgz=gLdII= 100,000,000& * 14l 100,000
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